Ramchand, Gillian. Aspect Phrase in Modern Scottish Gaelic. Oct 27, 1992.

Many examples in this paper are found in the data extracted from Ramchand's dissertation.
Chunnaic 
Calum 
am balach 

See.past 
Calum   
the boy 

“Calum saw the boy”

Bha        
Calum
air

am 
balach 
fhaicinn

Be.past  

Calum 
perf 
the boy 
see.vn

“Calum had seen the boy”

Note: there is an a 'tran' before see, which is deleted for phonological reasons

Bha       Calum a’ 
faicinn
a’ bhalaich 

Be.past Calum prog 
see.vn 
the boy.gen 

Calum was seeing the boy”

Note: AZSGP speaker says without genitive, but says this is prescriptively correct

De

tha

thu

a’ 

ciallachadh?

what be.pres
2s 

prog 
mean.vn

“What do you mean?”

Tha

mi
ag

iarraidh  
cupa 
ti

Be.pres 
1s
prog
want.vn 
cup 
tea.gen
“I want a cup of tea”

Bha
mi
ag 

òl


leann

be.past 1s prog
drink.vn
beer

I was drinking bear

Note: not tested with AZSGP speaker but consistent with other reported data

Dh'òl

mi
leann

drink.past
1s
beer

I drank beer

Note: not tested with AZSGP speaker but consistent with other reported data

De 
cho 
fada 
‘s 
a     
bha      
thu  
ag 

ol       
leann?

what
as

long cop
wh-C
be.past 
2s 

prog
drink.vn
beer


 “How long were you drinking beer for?” 





*De 
cho 
fada 
‘s 

a

dh’ol 
   
thu 
leann?



what
as

long 
cop
wh-C
drink.past 2s 

beer?

.

“How long did you drink beer for? 

Note: Context in which its ok: short period. Previous sentence is preferred. AZSGP speaker says this isn’t 

wrong.

*De 
cho 
fada 
‘s 

a

dh’ol 
   
thu 
cupa 
ti?



what
as

long 
cop
wh-C
drink.past 2s 

cup 
tea.gen?

.

“How long did you drink the cup of tea for? 
Note: not tested with AZSGP speaker
 ‘S 
e 
an dorus
 a   dhùnadh
 a

dh’iàrr

e

orm

 

Cop 3sm the door tran shut.vn

wh-C
ask.past
3sm
on.1s

 

It is shutting the door that he asked of me.




‘S 
e cofaidh a      bu          thoil   leam

cop 3sm coffee   that cop.past liking with.1s

It is coffee that I would like

S’ e mise     a      chunnaic a-raoir     e


These are examples of the

It is 1s.emph that see.past   last night 3sm


use of “S’ e” to cleft NPs

It is I who saw him last night.

S’ e mise      a     bha  ag   òl                  leann a-raoir 

It is 1s.emph that prog        drink.vn  beer  [last night]

It is me who was drinking beer last night

*Chunnaic 
Calum

a'
bhalaich

See.past

Calum

the boy.gen

"Calum saw the boy"

Note: Not tested with AZSGP speaker

*Bha 

Calum air 
am balaich fhaicinn

Be.past 
Calum perf 
the boy.gen see.vn

Calum had seen the boy

Note: Not tested with AZSGP speaker, but consistent with other elicited sentences
Bha 

Calum a' 

faicinn

am balach

Be.past 
Calum prog
 see


the boy

Calum was seeing the boy.

Note: AZSGP speaker says this is fine, contra Ramchand (and prescriptive grammars)
Bha 

Calum air 
mo 

fhaicinn

Be.past 
Calum perf 
1s.poss 
see.vn

Calum had seen me.

Note: Not tested with AZSGP speaker, but consistent with other elicited sentences
Bha

Calum 
air 

mise

fhaicinn

Be.past
Calum

perf
1s.emph
see.vn

Calum had seen me.emph

Note: not tested with AZSGP speaker

*'S
e
taigh 
a
cheannach
a
bu
thoil
leam

Cop
3sm
house
tran
buy 
wh-C 
cop.past
liking
with.1s

"It's buying a house that I would like

Note: not tested with AZSGP speaker
